’
3 (Sem-1/CBCS) ECO HC 1

2019 .

ECONOMICS

( Honours )
Paper : ECO-HC-1016
( Microeconomics )

Full Marks : 80

Time : 3 hours
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1. Answer the following as directed : 1x10=10

ware frarTyRa fiot Sepif Ted fra -

(a) Define a household.
“[fReT i o |

(b)) What is producer’s surplus?
Teowaq Tge %2

(c) Mention one feature of capitalism.

sffeama b1 CaRE Srae 4 |
(d) What do you mean by price rationing?

Price rationing iﬁiﬁ & gm0
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(2)

(e) Define marginal productivity of labour

= IS Beefmaerer st fiy |
(f) Fill in the blank -
1R 3R 779 797
MRP; =MPP, x___|
(9) For a Giffen good, income effect is
Giffen good-7 oI e 373
(i) positive
SBIIES
(@) negative
A
(i) constant
f&q
(iv) Both (i) and (i)
TS (i) &R (i)

(Choose the correct option

(@ﬁﬁ@mmﬁ%ﬁw

€rage cost (A

)
)

C)' curve

(h) Why is the -
U-shaped?

P T (AC) 1 U-wfey 25 g
: q7?
() Define opportunity cogt
T IR Stk gy |
20A/575

( Continued )

(3)

() How does technological innovation affect
the supply curve?

ﬁ{%wmmmﬁwﬁwmﬁw
T ? ;

2. Write short answers of the following
questions : 2x5=10

o 2PICAE v Ted Tl

(a) What is meant by property rights?
sreffie FeR ¢ 32

(p) f B=X-Px +Y- B, where B represents
money income of the consumer, Py and
P, represent prices of goods X and Y
respectively, find the slope of the
equation.

® B=X Py+Y-B, W, T¢ B T«
ToCSTEN W, Py W Py T GE X W Y
TR T, RGO B Ofered |

(c) State two exceptions to the law of
demand.

wifw fife o1 ofoe for |

(d) Mention two government policies to
enhance competition in the market.

e afvafel 9 SR /1 (B RER A
Ty 41
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(5)

(4 )
(e) Point out two ch e
Ay characteristics of labour (d) What is cross-elasticity of demand? How
do you infer about the nature of two
¥ IGIRE 731 (AR goods on the basis of cross-elasticity of
EBT, fer demand? 2+3=5
ANy s fode Rfvere R o fefe
r any four of the following questions : fFfewreer fefee ‘;f[ﬁ WA e fone S
5x4=20 17
O AR R @1 wiRGE Seq
&9 Ty
(@ D (e) Explain how an income-consumption
a) Discuss the basic curve of a consumer consuming two
economi
faced by an economy. Ic problems : products is derived. =3
AR SE Cogen 4 TSl e SE-
DAL G IR < R ?ﬁt@tﬂ@m%mﬁffnwiﬂ SIS
HCEAo] <97 | ’
(b) Briefl . () Explain the various factors responsible
mesynfexplain Bthe - for the shift in the demand curve of an
diminishing : principle  of e 4t
T Whmargma_l rate of individual consumer. 5
v N T at role d : :
shaping indifference curVeZiS it ey 13n 4 ofeRom TeeR TRM @ EERRS
‘ +2= ffen s T 4 |
i 2 A 53 e
4. Answer the following questions : 10x4=40

2 ' Y
579 2PCERE Teg ferdl

(a) Discuss the scope of Economics. State

{c) Distineyi
. guish betw
the basic assumptions of Economics.

histogram een bar diagram and
5
6+4=10
7% foq s
BT 1927 forreter zmey | wefEEE R S 79 SRS 3
SfeyReTCa ford |
20A/575
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e (7)

Or/ 9
S Or / S%41

Criti .
Prrtlnzcall.y_ discuss the marginal Show the trade-off between work and
uctvity theory of labour. 10 leisure at different levels of wage rates.
W S Seois Why is the labour supply curve backward
ST | ST S AT 7 bending? 6+4=10
fifer T e A wI® e iR
(b) Explai (Sl | T @ P e 72
maxi ® the behaviour of 2 fit :
aximizing firm in the short- S 10 (d) Show that average cost is the
gy combination of average fixed cost and

O 93T 7rs BT 2o average variable cost. Write a note on the

AT GG slope of the average variable cost curve.
Also explain the relationship between

average cost and average variable cost

Or / 533
Disti . curves. 4+3+3=10
: S. nguish betw€en direct
indirect tax. sp ¢t tax and (e @ o W TA 6 T W WE AW
imposition of a s«;v the impact of AR A R | e AR T
equilibrium. i = o0 marked @R TR @R ¢ R | e T CWIE
AT 9 WIF ars i 515 “REGTRNA I AR FFCore e 2 |

ARG Or / W&l

SRAIA emﬁ@?wm%m@\w'

Discuss the rationale behind regulation
of monopoly practices. What role do

() Explai
n how pri
Price effe antitrust policies play in monopoly

Ct of change in

price of 5
income effegstogn‘;an be decomposed into regulation? 7+3=10
substituti
- stitution effect. 10 el T e e el SCEr
s ;ﬁ?&ﬁaﬁﬁ%ﬁ ST w11 T IR e E-Re
F9 919 N1, <77 Wll TARAIR & SR e ?
20A/575 * * %
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Answer either in English or in Assamese

1. Choose the correct answer of the following :
1x10=10
e TPHEd W% Tedch! AR Sfered :

(@ IfA={2, 4} andB={2 3,45}, thenfind
i A={2 4} SF B={2 345 &, (9@
e

(i) ADB
i) AUB
(i) Ac B
fiv) AnB

)0A/576 ( Turn Over )



(2) i)

5 (e) An example of discontinuous function is
(b) Y =b*is a/an
Y =b? (zm 9 g
T i tion
() constant function (i) rectangular Zyggbollc s
\D
T T (5575 o) SO o]
(i) polynomial function (i) quadratic function
T2l o e o
(i) singular function (ifi) cubic function
G o R
) exponential function :
" ‘IF%?I o (iv) polynomial function
=70 Fo

(© If lim 120, then 1im(n+

N—ee n n —eo

]
—
o S
e
4]

n n YA TR AR S I IR A
i) o (i) gross capital
(i) 1 T T
(ifi) oo (i) marginal capital
(iv) n 218 T
(d IfY=f(x)= b, then xlﬁi_)rri/! is (iii) investment
fff‘?Y=f(XJ=b,®ﬁ lim (zm fefercaner
. X—-M
@) b ‘ (iv) time path
i) M 9 AL
(i) o
(iv) b/ M o ( Turn Over )
20A
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(t4) (S)

d2y

(g0 The direction of V= b
f(x) e () For maximization of Y =f(x), P

measured by

Y = f)3 e @37 3fq «f3 should be
i o d’y
e Y=f(x)qﬂa&ﬁww,a§i’aaﬁa
2 .
(i) _d__éi (i) zero
dx i
(i) dy (i) negative
YT
(iv) dx (fij) positive
SCINES
(h) The tallest student in your class (iv) double the value of dy
I'epresents dx
ORI C1fllq Y2 w7 g
ABRSLT @Y e o = L
(i) global maxi !
R s 0 176 dx is equal to
(@) relative maximum J‘: () dxd 5=
et sk wm
' i) 7 - flx) dx
(i) absolute maximum i J::
Frape s T (i) [0 2f09 dx
(iv) both global and absolute maximum (iti) 2J'b flx) dx
G 1 szt oif¥d s T .
(iv) 2, - £ dx
20A/576 20A/576 ( Turn Over)
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(6)
2. Answer the following questions : 2x5=10
o ST Ted for

(a) State ordered and unordered pairs

(b)

()

(@)

()

20A/576

with an example.

LRI (TS) W PReERE (SEhe)
et 1 1, Srraeecs @i foran o k.

Define quasi-convex.

Taet T el forat |

tS;ate, why for minimization of a function
e.second—order condition should be
positive.

R weme sffgon @ 7w fifter RER
CTF 2T =15t 2 E

Find 2 for y- loge®
dx

er

Y ot log e?
&Y fyefe _loge
Cb{ i e2x

Wh
terrﬁ d; E need to add one constant
while Integrating a function?

W TR R T
LN - %ﬂwﬁqﬁm

( Continue®

J

(7))

3. Answer any four from the following

5x4=20

questions :

W 2P i I BifReR e fered

(a) Distinguish between implicit function
and explicit function. Map the following

function :
XY =a

3+2=5

fifes wom WE SRS TR eSS
fEed T4 OOR Feod AHbGe SR

F4
XY =a

(b) Define continuity of a function. State
why a function must be continuous for
it to be conformable for differentiation. 5

JoR qaERgel P o T
SR A 1 T R (IR X A,

form

(c) 1f TR = PQ, where P and Q are price and
quantity respectively, then show that

AR
ed g g TS
AR - MR

Ifi TR=PQ, TS P I T WF Q (=

o{f e, (or8 (489 &,
AR
(= N
AR - MR

20A/576
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(9)

( 8)

(d) Given the following aversge easl 4, Answer any four from the following
function, find the marginal cost Guestions ; ROxSRaU
function : ©od PR R I iR Ted ferd

AC=100—IOQ+(%)Q2 (a) For a function Y =logx, prove that
dy 1 A
: ===, Also find th
where Q is the level of output produced. 5 de x %01 i _ i
©To fiql % N weRd Rl AR T Fw fnctae S
)i o 08
fdiae 1 - Ty — i 2
R, x—0 x2 + x-30
AC=100-10Q+(5)Q
. a1 T Y =logx, @91 ¥ & %:l.
TS Q txrz Seetifie A AR | R %
{10 Ood Tereid limit %o fefd 0 :
. e lim X =25
(e) Menu‘on the condlt.lon under which the x20 x2 4+ x-30
technique of total differentiation is used.
Also explain the statement, “Integration (b) If the production function
: : - 2 173
is the reverse process of differentiation.” Q=40L +3L" -3L
2+3=5 :
where L is the employment of labour,

find the size of labour to give maximum
output. Also show that if demand curve

T R RS I G SR T

T NS I (R ST S
2AfE7 17 1 <547 | is linear, marginal revenue is half of
average revenue at output g. S5+5=10
. I Sedrw  FOW  Q=40L+3L% -1L3,
() Explain the necessity of integrating ' . =
the demand curve for finding out L 2z wfie FfeT ARTeR | T Serfrs
consumer’s surplus. 5 9] A e i aEa 29, fefa w4
woice (redl (@, I oifE @ GRS 4@ oo
AT Tge A a3 oW wewe ST D i
RS SN —— reg 7, (903 AR R (T TC WEG 4]
' T AMAR “Ifwe (=02 g.
20A/576 ( Turn Over )



P . J -~

(10 ) (11 )

(c) Given the demand function P = (10 - X)? (% T-he mzrgir;;; ie; gnu: fun'c ficnygls
and the cost function C=55x-8x”. il;‘:: elS;lstjcity— of —de%aji‘:indwlr‘::;
Find the maximum profit. What would 0=10. 5+5-10
be the effect of an imposition of a tax 4% SRE T (8 MR =50 -40

i ice? 10 i : n >
of € 9 per unit on price: v Ry RfErrre fidf w1, iR
W e P=(0-X)° O T T @=10!

C=55x—8x2% T ™ Are ey 4 A
3 oS g AT SIS Foq 39 ol () () The total cost of a firm is given by
corE TR 8RS [ oo AR ? C =5000-15g+5g>. Find the level
Fle of output at which the slope of
(d) Show that even after imposition of the average cost is zero.
Jump sum tax and profit tax equilibrium 4 ¥ 5 4 C = 5000 -15q +5q°.
condition of market will remain the . fo RN EES TR TG <R
same. Also show that imposition of sales RIS B X T2
tax results lesser output. 6+4=10
e @ lump sum 99 S[F weES 9 (i) Obtain consumer’s surplus of the
::é ‘?Paﬁ el SR e g A | following demand function, given
the market price :
aﬁg@ﬂ@mﬁzﬁwwﬁaﬁzﬁm@? -
T ZPT 4 | ' Q.=1ﬂ60—(§)P
() () If the demand function is whergHided 16 ain
0, =50-2R +3P, +0-2Y, then find " B
the price elasticity and income oo oI T R TeAceTe g e
elasticity, where Y =500 and A = 2. bk
Ffit oIfZwl e el _(é) &
Q, =50-2R +3P, +0-2Y 2
r.‘[
1 Rfgremel wre o Rfegemel [ e P=1630 |
41, I'© Y =500 9<F A =2
ol 20A/576 ( Turn Over
( Contint



(12 )

(g) If the marginal revenue function for

output x is given by MR = +5,
(et

find the total revenue function and

the demand function. 10

qE R ¥ x  ANAN A

MR =i S +5. W O WF Sl
(x+2)

IGEREEIN

(h) For the following production function
Q=al® +bL? +cL +d, what restriction

a, b, ¢ and d will follow to have a true
form of cubic production function?
Also find at what level of labour (L), the
total output will be maximum. 10

o8 GeA T Q=al’ +bL? +cL +dJ

a, b, ¢ AF dAF (FERM I SR R
SR I 4 o1 @ fqure wor Fife
A2 Foce foqe e wfies P
Te{Iwe NG 19, iy 41 |

* % %
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